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POPs

-1,3-

29

-1,3-
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1 POPs

pg/m’

pg/m’
H21 | H22 | H23 | H24 | H25 ! H26 | H27 ¢ H28 | H29 | H26 @ H27 @ H28 ! H29
[ PCB 80 46 49 47 50 38 56 58 37 4 50 37
[2] | HCB 120 110 110 110 110 110 100 110 120 140 140 150 96
[3] 008 | 010 @ 018 ' 011 : 010 : 008 | 015 : 0.1 @ 011 | 027 ' 060 { 0.15 : 0.07
[4] 1.6 1.4 13 0.98 1.0 1.1 12 1.1 1.2 13 1.8 1.6 | 071
[5] tr(0.08) : tr(0.08) . tr(0.08) ; tr(0.06) . 0.08 0.08 0.07 0.07 0.07 | 0.06 0.07 0.06 . tr(0.04)
DDT ..................................
[6-1] p.p -DDT 15 08 057 054 043 051 038 034 036 | 044 044 -~ 045 022
[6-2] p.p -DDE 14 13 . 098 13 092 095 . 088 . 077 . 076 1.0 10 . 1.0 066
[6] | [6-3]p.p-DDD 0.14 i 0098 i 006 i 0.06 | 0.058 | 0.079 i 0.049 i 0.037 : 0.032 | 0.085 | 0.074 i 0.072 i 0.035
[6-4] 0.p -DDT 1.1 070 - 054 - 048 . 040 . 040 . 036 - 030 = 034 | 046 048 : 044 - 021
[6-5] 0,p -DDE 033 © 028 . 017 023 _ 018 015 . 013 . 013 _ 014 | 019 _ 0.8 . 0.17 . 0.1
[6-6] 0.p -DDD 014 © 011 : 006 i 008 | 006 | 008 | 0.06 :tr(0.04) tr(0.04)| 010 | 0.09 { 0.09 :tr(0.05)
[7-1] cis- 45 39 | 42 2.8 3.1 29 3.6 3.1 37 29 4.1 4.0 1.6
[7-2] trans- 4.9 43 47 3.1 32 32 42 3.5 3.6 3.0 4.1 3.9 1.8
7 | 73 062 - 049 - 044 ~ 037 _ 038 037 _ 036 - 041 034 | 029 032 . 032 _ 0.8
[7-4] cis- 056 | 047 | 046 | 3V | 035 | 035 | 039 | 034 | 041 | 035 | 047 | 049 | 017
[7-51 trans- 43 35 37 2.5 2.8 2.7 3.1 2.9 3.1 2.4 33 3.3 13
[8-1] 084 082 092 . 061 . 065 . 052 _ 071 . 066 . 062 | 040 = 049 - 054 = 032
;g7 | (821 cis- 059 i 054 i 048 | 045 | 042 | 042 | 035 i 037 & 035 | 043 © 044 | 041 | 027
[8-3] trans- nd nd nd nd nd nd nd nd nd nd nd nd nd
(o] |L9-1]Parlar-26 tr(0.16)  tr(0.17)  tr(0.13) . nd _t(02) . nd . nd . nd | nd [(0.2) | nd nd . nd
[9-2] Parlar-50 nd  r(0.08) Cw(0.1) __nd__ t(0.1)  w(0.1) nd  t(0.1) | w(0.1) t(0.1) _nd___tr(0.1)
[9-3] Parlar-62 nd : nd : nd - nd  nd nd . nd : nd  nd nd - nd nd - nd
[10] 020 | 017 | 014 . 016 : 018 ; 014 | 014 : 0.3 : 0.8 | 017 | 0.16 : 0.16 : 0.063
HCH _
[11-1] ¢-HCH 15 . 11 13 11 7.9 8.1 8.9 6.5 13 14 14 3.8
(1) L2 pHCH 094 — 084 080 078 _ 081 _ 070 - 059 - 063 054 | 077 078 081 _ 033
[11-3] y-HCH
33 2.1 2.8 2.5 24 1.8 1.7 2.0 1.5 24 2.5 25 0.83
[11-4] -HCH 010 © 011 | 010 | 009 | 010 | 007 | 006 @ (0.10) (0.07)| 010 | 0.1 [ 0.12 :t(0.05)
[12] nd nd nd nd nd nd nd nd | r(0.01)  tr(0.01) | tr(0.01) : tr(0.01)
[13] tr(0.1) nd nd nd nd nd nd nd nd nd nd nd
4 10
[14-1]
033 | 021 | wo2)| o5 0.7 0.5 0.3 038 | 06 0.6 07 | 031
[14-2]
tr(0.09)| tr(0.07)| nd 024 | 040 | w(0.17)] 022 | 023 | 026 | 025 | 041 |tr(0.13)
T
r(0.06)° nd  t(0.1)  tr(0.1)° nd | (0.1) ¢ t(0.1)  tr(0.1)| nd  (0.1) = tr(0.1)  tr(0.1)
N
tr(0.1) : tr(0.1) nd nd tr(0.1) © tr(0.1) i tr(0.1) : tr(0.1) | tr(0.1) : tr(0.1) : tr(0.1) : tr(0.1)
[14-5]
tr(0.12)° tr(0.08)° tr(0.1) i tr(0.1) ¢ (0.1) | tr(0.1) f tr(0.1) I tr(0.1) | t(0.3) ¢ (0.2) I tr(0.1) | tr(0.2)
[14-6]
tr(0.5) nd tr(0.3) nd tr(0.5) nd tr(0.5) nd tr(0.8) nd tr(0.5) nd
[14-7]
tr(4) nd nd tr(3) tr(3) nd tr(5) nd tr(4) nd tr(5) nd
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pg/m?

pg/m’
H21 | H22 | H23 | H24 : H25 : H26 : H27 @ H28 | H29 | H26 : H27 @ H28 @ H29

[15] PFOS 438 5.5 3.9 5.1 6.0 438 52 6.9 8.1 6.0 8.1 32

[16] PFOA 23 7.1 45 11 7.6 5.9 6.8 14 15 15 17 9.2

[17] 48 51 52 54 53 48 56 67 67 73 82 60

18] [18-1] a- 30 13 14 13 11 8.5 18 32 27 20 33
[18-21 - 1.6 0.8 0.9 1.0 0.8 0.5 12 2.8 2.1 1.4 0.5
1,2,5,6,9,10-

[19-1] 6-1,2,5,6,9,10- 1.8 1 tr(02)] 03 0.3 04 | tr(02)| 1.1 0.8 0.7 0.7
[19-2] -1,2,5,69,10- 0.6 i tr(0.1)} tr(0.10) tr(0.1): tr(0.2): tr(0.1)| 0.39 0.3 0.3 0.3

19 23] y- -

(9] 1 [19-3] 7-12,5,6,9,10 1.6 © tr(02) 028 0.3 0.7 0.4 1.1 1.0 1.3 0.8
[19-4] 6-1,2,5,6.9,10- nd  tr(0.1) nd _ tw(©0.1) nd nd | tr(0.11) tr(0.1)_ tr(0.1) tr(0.1)
[19-5] &-1,2,5,6,9,10- nd nd  t(0.1). t(0.1) nd nd | w©.1): t©.1) nd nd

[20] 17 14 r21) 26

[21] 13- 890 | 2,800 1,000 i 5,100
[22-1]

2] 1.0 0.8 12 1.0
[22-2] 8 8 10 tr(4)
[23] 550 390
[23-1]

( 10 240 160

[23] | [23-2] 200 120

( 11
[23-3]

( . 66 51
[23-4]

( ;3 48 52
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pg/m?

pg/m’

H21 H22 | H23 | H24 | H25 | H26 @ H27 | H28 | H29 | H26 @ H27 @ H28 | H29
PAH
[24-1] 310 180 190 310
[24-2] 410 290 270 510
[24-3] [a] 50 25 tr(20) = 43
[24-4] 190 130 110 200
[24-5] [a] 70 24 30 76
[24-6] [e] 100 56 60 110
[24-7] [b] 160 110 94 190

(241 24-8 Kk
[24-8] (k] 60 34 30 61
[24-9] [g.h,i] 90 55 50 100
[24-10] (1,2,3- 110 70 50 110
c,d]
[24-11] [a,c] tr(20) nd tr(10) § tr(10)
[24-12] [a,h] tr(20)  nd nd (1)
1 26 28
13- LV MV
2 PCB PCB
3
4 21 4 12 2 3 PCB
PCB
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2 POPs [ ]
pg/m’
H21 H22 H23 H24 H25 H26 H27 H28 H29
[0 PCB 0.82 1.30 2.30 1.70 0.85 0.62 0.90 1.7 13
[0.30] [0.56] [0.91] [0.66] [0.31] [0.22] [0.39] [0.6] [0.4]
o1 | HeB 0.22 1.8 0.6 0.6 05 05 03 03 04
[0.08] [0.7] [0.2] [0.2] [0.2] [0.2] [0.1] [0.1] [0.1]
B3] 0.04 0.06 0.05 0.05 0.04 0.05 0.05 0.06 0.06
[0.02] [0.02] [0.02] [0.02] [0.02] [0.02] [0.02] [0.02] [0.02]
4] 0.24 0.10 0.08 0.06 0.05 0.05 0.06 0.08 0.09
[0.09] [0.04] [0.03] [0.02] [0.02] [0.02] [0.02] [0.03] [0.03]
s 0.10 0.10 0.09 0.07 0.06 0.05 0.06 0.06 0.06
3] [0.04] [0.04] [0.04] [0.03] [0.02] [0.02] [0.02] [0.02] [0.02]
DDT
[6-1] p.p"-DDT 0.07 0.08 0.07 0.08 0.05 0.05 0.05 0.06 0.06
k [0.03] [0.03] [0.03] [0.03] [0.02] [0.02] [0.02] [0.02] [0.02]
[6.2] p.p"-DDE 0.04 0.05 0.08 0.09 0.04 0.05 0.05 0.06 0.06
k [0.02] [0.02] [0.03] [0.03] [0.02] [0.02] [0.02] [0.02] [0.02]
631 »p"DDD 0.025 0.024 0.04 0.04 0.018 0.018 0.018 0.017 0.018
6 | 631pr [0.009] | [0.009] [0.01] [0.01] [0.007] | [0.007] | [0.007] | [0.007] [ [0.007]
[64] 0.p-DDT 0.03 0.03 0.04 0.04 0.018 0023 003 0.03 0.03
P [0.01] [0.01] [0.01] [0.01] [0.007] & [0.009] : [0.01] [0.01] [0.01]
6.5 09" DDE 0.025 0.03 0.04 0.04 0.023 0.023 0.019 0.020 0.02
[6-5Jo,p [0.009] [0.01] [0.02] [0.01] [0.009] | [0.009] | [0.007] | [0.008] | [0.008]
[6.6] 0.p"-DDD 0.04 0.03 0.05 0.05 0.05 0.05 0.05 0.05 0.06
P [0.01] [0.01] [0.02] [0.02] [0.02] [0.02] [0.02] [0.02] [0.02]
[7-1] cis- 0.14 0.17 0.24 0.22 0.12 0.08 0.2 0.3 03
[0.05] [0.06] [0.09] [0.08] [0.05] [0.03] [0.1] [0.1] [0.1]
[7.2] trans- 0.17 023 0.3 04 0.15 0.11 0.3 04 03
: [0.06] [0.09] [0.1] [0.1] [0.06] [0.04] [0.1] [0.1] [0.1]
[7] (73] 0.04 0.03 0.07 0.08 0.03 0.06 0.06 0.06 0.05
[0.01] [0.01] [0.03] [0.03] [0.01] [0.02] [0.02] [0.02] [0.02]
[7-4] cis- 0.03 0.021 0.04 0.12 0.04 0.04 0.06 0.06 0.04
) [0.01] [0.008] [0.02] [0.05] [0.02] [0.02] [0.02] [0.02] [0.02]
[7.5] trans. 0.09 0.12 0.18 0.24 0.11 0.10 021 0.22 02
[0.03] [0.05] [0.07] [0.09] [0.04] [0.04] [0.08] [0.09] [0.1]
[8.1] 0.06 0.08 0.09 0.09 0.07 0.07 0.08 0.09 0.08
[0.02] [0.03] [0.04] [0.03] [0.03] [0.03] [0.03] [0.03] [0.03]
(8] | [8-2] cis- 0.022 0.024 0.04 0.05 0.03 0.03 0.03 0.03 0.03
[0.008] | [0.009] [0.01] [0.02] [0.01] [0.01] [0.01] [0.01] [0.01]
[8-3] trans- 0.16 0.16 0.13 0.12 0.12 0.11 0.10 0.10 0.11
[0.06] [0.06] [0.05] [0.05] [0.05] [0.04] [0.04] [0.04] [0.04]
0.22 023 0.22 04 0.3 04 0.5 04 04
[9-1] Parlar-26 [0.08] [0.09] [0.08] [0.2] [0.1] [0.2] [0.2] [0.2] [0.2]
O 1 192] Parlar-50 0.25 0.15 0.15 03 0.4 04 0.4 0.22 03
[0.09] [0.06] [0.06] [0.1] [0.2] [0.1] [0.1] [0.09] [0.1]
1.6 12 1.3 4 1.6 2.1 24 12 1.4
[9-3] Parlar-62 [0.6] [0.5] [0.5] 2] [0.6] [0.8] [0.9] [0.5] [0.5]
[10] 0.03 0.020 0.04 0.021 0.020 0.017 0.023 0.019 0.021
[0.01] [0.008] [0.01] [0.008] : [0.008] : [0.007] : [0.009] : [0.007] : [0.008]
HCH
0.10 0.17 0.24 0.16 021 0.10 0.3 0.20 0.14
(11-1] &-HCH [0.04] [0.06] [0.09] [0.06] [0.08] [0.04] [0.1] [0.08] [0.06]
[11-2] -HCH 0.04 0.07 0.06 0.07 0.06 0.05 0.06 0.07 0.06
[11] [0.01] [0.03] [0.02] [0.03] [0.02] [0.02] [0.02] [0.03] [0.02]
[11-3]y-HCH 0.07 0.11 021 0.14 0.15 0.06 0.18 0.16 0.09
[0.03] [0.04] [0.08] [0.05] [0.06] [0.02] [0.07] [0.06] [0.03]
0.04 0.05 0.05 0.07 0.05 0.04 0.04 0.11 0.08
[11-4] 0-HCH [0.02] [0.02] [0.02] [0.03] [0.02] [0.02] [0.02] [0.04] [0.03]
(2] 0.04 0.04 0.03 0.03 0.03 0.03 0.03 0.03
[0.02] [0.02] [0.01] [0.01] [0.01] [0.01] [0.01] [0.01]
03] 0.3 0.3 0.4 0.19 0.19 0.19 0.19 0.3
[0.1] [0.1] [0.1] [0.07] [0.07] [0.07] [0.07] [0.1]
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pg/m?

H21 H22 H23 H24 H25 H26 H27 H28 H29
4
10
[14-1] 0.12 0.18 0.3 0.3 0.3 0.3 0.3 0.24
[0.05] [0.07] [0.1] [0.1] [0.1] [0.1] [0.1] [0.09]
[14-2] 0.12 0.16 0.14 0.18 0.18 0.18 0.19 0.19
[0.05] [0.06] [0.06] [0.07] [0.07] [0.07] [0.07] [0.07]
[14-3] 0.16 0.14 0.3 0.4 0.5 0.4 0.3 0.3
[14] [0.06] [0.05] [0.1] [0.1] [0.2] [0.1] [0.1] [0.1]
[14-4] 0.26 0.3 0.5 0.5 0.3 0.3 0.3 0.3
[0.10] [0.1] [0.2] [0.2] [0.1] [0.1] [0.1] [0.1]
[14-5] 0.15 0.20 0.3 0.3 0.4 0.3 0.3 0.3
[0.06] [0.08] [0.1] [0.1] [0.1] [0.1] [0.1] [0.1]
[14-6] 0.7 0.9 0.7 1.0 0.9 13 1.1 1
[0.3] [0.4] [0.3] [0.4] [0.4] [0.5] [0.4] [0.4]
[14-7] 6 7 8 8 8 11 10 10
[2] [3] [3] [3] [3] [4] [4] [4]
15 0.4 0.5 0.5 0.3 0.3 0.3 0.3 0.4
[13] PFOS [0.1] [0.2] [0.2] [0.1] [0.1] [0.1] [0.1] [0.2]
16 0.5 0.6 0.7 0.4 0.4 0.4 0.4 0.4
(161 ppoa [0.2] [0.2] 03] [0.1] [0.1] [0.2] [0.2] [0.2]
17 0.3 0.6 0.3 0.5 0.21 0.17 0.5 0.4
[17] [0.1] [0.2] [0.1] [0.2] [0.08] [0.07] [0.2] [0.1]
[18-1] a- 22 1.7 2.1 1.4 1.7 12 15
[18] [0.8] [0.7] [0.8] [0.5] [0.7] [0.5] [0.6]
[18-2] p- 0.4 0.6 0.6 0.3 0.5 0.5 0.5
[0.1] [0.2] [0.2] [0.1] [0.2] [0.2] [0.2]
1,2,5,6,9,10-
[19-1] @-1,2,5.6,9,10- 0.6 0.3 0.3 0.3 0.3 0.3
[0.2] [0.1] [0.1] [0.1] [0.1] [0.1]
[19-2] f-1,2,5,6,9,10- 0.3 0.3 0.22 0.3 0.3 0.3
1 [0.1] [0.1] [0.09] [0.1] [0.1] [0.1]
[19] [19-3] 7-1,2,5,6,9,10- 0.3 0.3 0.22 0.3 0.3 0.3
[0.1] [0.1] [0.09] [0.1] [0.1] [0.1]
[19-4] 5-1,2,5,6,9,10- 0.4 0.3 0.23 0.3 0.3 0.3
[0.2] [0.1] [0.09] [0.1] [0.1] [0.1]
[19-5] &-1,2,5,6,9,10- 0.6 0.4 0.3 0.3 0.6 0.7
[0.2] [0.2] [0.1] [0.1] [0.2] [0.3]
1.00 0.74
[20] [0.41] [0.27]
-1,3- 50 80
[21] [20] [30]
[22] | [22-1] 0.8 0.8
[0.3] [0.3]
[22-2] 6 6
(2] [2]
[23] 59
[22]
[23-1] 21
( 10 [8]
[23-2] 10
(23] ( 11 [4]
[23-3] 14
( 12 [5]
[23-4] 14
( 13 [5]
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pg/m’
H21 | H22 H23 H24 | H25 | H26 H27 H28 H29
30 21 30 17
2411 [10] [8] [10] [7]
2 21 24 18
[24-2] [9] [8] [9] (7]
o T R
[10] (8] [10] [6]
40 21 24 14
[24-4] [10] [8] [91 [5]
30 20 30 17
[24-5] [a] [10] [8] [10] [7]
30 19 30 12
[24-6] [e] [10] [7] [10] [5]
[24] | [24-7] [b] 30 20 24 12
[10] [8] [9] [5]
[24-8] k] 30 19 30 13
[10] 8] [10] [5]
[24-9] [g.h,i] 30 21 30 9
[10] [8] [10] [4]
[24-10] [1,2,3- 30 20 30 22
c,d] [10] [8] [10] [8]
[24-11] [a,c] 30 21 30 30
[10] (8] [10] [10]
[24-12] [a,h] 30 20 22 30
[10] [8] [9] [10]
1
2
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3-1 POPs 29
29 pg/m’
4 5 6 7 8 9 10 11 12 1 2 3
[1] PCB 79 48 75 91 63 83 62 62 55 37 19 27
[2] |HCB 230 170 200 83 150 86 99 83 83 86 64 92
[3] 0.17 0.21 0.15 0.18 tr(0.02) ¢ 0.12 :tr(0.05): 0.10 0.08 0.10 :tr(0.03) : tr(0.05)
[4] 1.2 0.73 1.0 1.3 2.6 3.0 1.3 0.69 0.63 0.51 0.43 0.55
[5] 0.07 0.06 0.06 0.08 0.08 0.11 0.07 0.10 : tr(0.05) ; tr(0.05) : tr(0.02) ; tr(0.04)
DDT
[6-1] p,p-DDT 0.60 0.28 0.53 0.38 0.28 0.62 0.29 0.65 ~ 0.24 0.22 0.11 0.16
[6-2] p,p’-DDE 1.5 0.52 1.5 0.61 0.52 1.1 0.49 0.61  0.83 0.53 0.46 0.49
[6] |[6-3] p,p-DDD 0.060 : 0.022 : 0.048 : 0.035 : 0.035 : 0.046 : 0.037 : 0.029 : 0.030 : 0.019 tr(gjol tr(Z.)Ol
[6-4] o,p"-DDT 0.76 0.42 0.66 0.22 0.24 0.38 0.29 0.32 0.22 0.19 0.13 0.24
[6-5] o,p"-DDE 0.34 0.14 = 030 - 0.084 - 0.069 - 0.14 - 011 - 0087 0.11 : 0.13 - 0.083 - 0.099
[6-6] o,p-DDD 0.08 - tr(0.04) . 0.07 - tr(0.05) - tr(0.05) - 0.06 - tr(0.04) : tr(0.03)  tr(0.04) : tr(0.03) : tr(0.02) : tr(0.02)
[7-1] cis- 38 1.8 3.5 43 11 9.5 4.7 2.4 1.1 1.1 0.5 1.1
(7 [7-2] trans- 4.8 1.8 3.8 5.0 6.0 11 4.1 2.4 1.1 1.3 0.6 1.2
[7-3] 0.32 0.51 0.36 0.33 0.54 0.50 0.41 0.35 0.21 0.21 0.13 0.16
[7-4] cis- 0.36 0.23 0.35 0.49 1.3 1.0 0.52 0.30 0.11 0.12 0.04 0.11
[7-5] trans- 32 2.1 2.8 3.6 8.1 7.3 4.1 2.3 0.9 1.1 0.5 1.1
[8-1] 1.1 0.48 0.86 0.97 0.53 1.6 0.54 0.49 0.28 0.29 0.09 0.17
g |82 eis- 034 © 041 ~ 040 ' 034 ' 046 047 043 034 033 024 025 = 023
(8-3] trans- nd nd nd nd nd nd nd nd nd nd nd nd
9] [9-1] Parlar-26 nd nd nd nd nd nd nd nd nd nd nd nd
[9-2] Parlar-50 tr(0.1) nd nd nd tr(0.1) nd nd tr(0.1) nd nd nd nd
[9-3] Parlar-62 nd nd nd nd nd nd nd nd nd nd nd nd
[10] 0.35 0.17 0.54 : 0.094 . 0.34 0.19 0.15 0.096 : 0.055 : 0.075 : 0.051 i 0.073
HCH
[11-1] a-HCH 11 12 13 5.6 9.7 5.1 8.2 4.0 29 2.3 1.6 2.7
[11] [11-2] B-HCH 0.80 0.51 0.72 0.80 0.71 0.78 0.68 0.54 0.28 0.30 0.16 0.25
[11-3] y-HCH
2.3 2.1 2.7 1.8 22 1.8 1.8 0.94 0.80 0.56 0.51 0.62
[11-4] 6-HCH 0.09 :tr(0.06) 0.10 0.08 0.08 0.13 0.09  tr(0.05)  tr(0.04) : tr(0.04) : nd nd
[12] nd nd nd nd nd nd nd nd nd nd nd nd
[13] nd nd nd nd nd nd nd nd nd nd nd nd
10
[14-1]
0.38 0.61 0.44 0.58 0.36 0.67 036 tr(0.14) . 0.27 0.27 itr(0.17) ¢ 0.28
(14-2] tr(0.16) :  0.79 0.25 0.33 0.19 0.34 0.21 nd  tr(0.16) : tr(0.10): nd - tr(0.11)
[14] (14-3] nd nd nd nd nd nd nd nd nd nd tr(0.1) nd
[14-4] tr(0.1) nd nd nd nd nd nd nd nd nd tr(0.1) nd
[14-5] tr(0.2) : tr(0.1) nd nd nd nd nd nd nd nd tr(0.1) nd
(14-6] tr(0.4) - nd nd nd nd nd nd nd nd nd nd nd
(14-7] nd tr(4) nd nd nd nd nd nd nd nd nd nd
[15] PFOS 11 3.8 8.6 8.6 7.7 5.9 7.1 6.4 2.6 10 43 6.8
[16] PFOA 22 12 20 4.0 58 4.4 13 7.7 9.0 7.3 6.9 8.3
[17] 150 100 130 31 56 33 47 46 51 61 35 58
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29 pg/m?
4 5 6 7 8 9 10 11 12 1 2 3
[18] |[18-1] a- 32 92 44 3.3 11 6.2 11 2.7 2.3 34 1.8 4.1
[18-2] - 25 55 2.0 0.6 0.7 0.5 0.6 0.5 | tr(0.4) | tr(0.4) | tr(0.4) | tr(0.4)
1,2,5,6,9,10-
[19-1]-1,2,5.6.9,10- 0.3 11 t(0.1)  t(0.1) = nd :tr(0.1) : nd : tr(0.1) = 03 nd : t(0.1) : tr(0.1)
[19-2]5-1,2,5,6.9,10- “(;)'1 07 nd nd  nd  nd . nd  w(01) w01 nd  «(01) nd
(197 | [19-3] 7-1.2,5,6,9,10- 04 . 25 0.3 nd §t(0.1) i 03 nd | t(02) : 03 nd | t(0.1) i nd
[19-4] 0-1,2,5.6,9,10- nd nd nd nd nd nd nd nd nd nd nd nd
[19-5] &-1,2,5.6,9,10- nd nd nd nd nd nd nd nd nd nd nd nd
[20] 19 93 14 14 13 21 13 15 16 13 12 14
21] 1315900 2300 - 3300 650 . 2000 . 1400 . 2700 . 3800 . 2800 . 6400 . 2400 . 3400
[22-1]
2] 14 08 1.1 w(0.6) 09 1.1 w(0.7)  t(0.5)  tr(0.4) 1.1 | tr(04) 1.0
[22-2] 12 7 13 9 9 10 8 6 w(5) - t@) - @)  tr@d)
23
[] (23] 1(1)0 1100 - 970 . 360 . 270 . 270 - 530 . 520 . 370 . 440 - 320 . 380
[23-1]
( 0 570 | 540 | 510 110 120 100 i 230 140 140 160 110 160
[23-2]
( " 440 . 390 : 350 130 71 91 190 : 250 120 120 100 120
[23'3(] . 100 | 78 80 65 48 54 67 73 60 72 42 47
[23'4(] 3 46 48 40 46 26 25 39 52 50 88 66 50
PAH
[24-1]
[24-2]
[24-3] [a]
[24-4]
[24-5] [a]
[24-6] e]
[24-7] [b]
[24]
[24-8] k]
[24-9] [g.h,i]
[24-10] [1,23-
c,d]
[24-11] [ac]
[24-12] [a,h]
1
2 PCB PCB
3
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3-2 POPs 29
29 pg/m?
10 1 12 1 2 3
[1] PCB 62 51 19 30 33 27
[2] |HCB 82 120 76 120 98 78
[3] 0.10 0.11 nd 0.09 tr(0.05) tr(0.05)
[4] 1.8 0.64 0.31 0.38 0.52 0.58
[5] 0.06 tr(0.03) tr(0.02) tr(0.02) tr(0.04) tr(0.05)
DDT
[6-1] p,p-DDT 0.33 0.31 0.12 0.17 0.21 0.17
[6-2] p,p-DDE 0.66 0.88 0.69 0.64 0.70 0.36
[6] |[6-3]p.,p-DDD 0.034 0.059 0.024 0.035 0.035 0.023
[6-4] 0,p-DDT 0.29 0.27 0.15 0.19 0.22 0.16
[6-5] o,p-DDE 0.10 0.13 0.09 0.13 0.14 0.07
[6-6] 0,p-DDD tr(0.05) 0.08 tr(0.03) tr(0.04) tr(0.04) tr(0.03)
[7-1] cis- 6.0 1.1 0.53 0.60 0.60 0.90
(7] [7-2] trans- 7.0 1.2 0.50 0.60 0.67 0.97
[7-3] 0.34 0.19 0.14 0.11 0.14 0.13
[7-4] cis- 0.62 0.11 0.05 0.06 0.06 0.10
[7-5] trans- 5.0 0.90 0.37 0.47 0.53 0.77
[8-1] 1.2 0.21 0.08 0.09 0.13 0.18
g |82 eis- 041 0.30 022 021 021 0.24
[8-3] trans- nd nd nd nd nd nd
[9] [9-1] Parlar-26 nd nd nd nd nd nd
[9-2] Parlar-50 nd nd nd nd tr(0.1) tr(0.1)
[9-3] Parlar-62 nd nd nd nd nd nd
[10] 0.075 0.075 0.034 0.065 0.080 0.048
HCH
[11-1] o-HCH 7.3 4.7 3.1 2.4 2.8 2.2
[11] [11-2] -HCH 0.65 0.35 0.17 0.23 0.25 0.31
(11-3] -HCH 1.4 1.1 0.54 0.60 0.72 0.60
[11-4] 5-HCH 0.09 tr(0.06) nd tr(0.04) tr(0.05) tr(0.03)
[12] nd nd nd nd nd nd
[13] nd nd nd nd nd nd
10
(14-1] 0.24 0.27 0.24 tr(0.17) tr(0.23) 0.68
[14-2] tr(0.10) tr(0.11) nd tr(0.12) tr(0.11) 0.31
[14] (14-3] nd tr(0.1) nd tr(0.1) tr(0.1) nd
[14-4] nd tr(0.2) nd tr(0.2) tr(0.1) nd
(14-3] nd 0.3 tr(0.1) 0.3 tr(0.2) nd
[14-6] nd tr(0.4) nd tr(0.5) tr(0.5) nd
(14-7] nd nd nd nd nd nd
[15] PFOS 5.8 1.2 2.9 4.8 2.3 2.4
[16] PFOA 6.0 12 53 19 8.1 4.5
[17] 42 69 40 91 66 49
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29

pg/m?

10 1 o 1 2 3
[18] [[18-1] o~ 32 6.1 1.6 33 35 2.0
[18-2] B- 0.5 0.8 tr(0.3) tr(0.4) 0.6 tr(0.4)
1,2,5,6,9,10-
(19-1] 4-1,2,5.6,9,10- 0.3 2.1 0.3 0.7 0.4 tr(0.2)
[19-2] §-1,2,5,6.9,10- tr(0.1) 0.9 tr(0.1) 0.3 tr(0.1) tr(0.1)
[19]
(19-3] 7-1,2,5,6.9,10- 0.7 2.1 0.6 0.9 0.3 03
[19-4] 0-1,2,5,6,9,10- nd tr(0.1) nd nd nd nd
[19-3] ¢-1,2,5,6,9,10- nd nd nd nd nd nd
[20] 43 23 30 33 19 10
[21] -1,3- 2,600 7,300 2,400 9,200 5,300 3,700
[22] (22-1] tr(0.4) 0.8 0.9 1.6 0.9 1.3
(22-2] 7 6 tr(3) tr(3) tr(4) tr(3)
231 | 1231 230 360 150 630 530 410
(23-1] 95 180 63 260 210 150
( 10
[23'2(] " 76 130 47 190 170 130
[23-3]
( . 40 31 26 83 67 59
(23-4] 21 18 tr(12) 98 86 75
( 13
PAH
[24-1] 310 370 230 390 430 110
[24-2] 440 530 480 710 740 160
(24-3] (al 34 52 4 63 61 tr(6)
[24-4] 150 220 160 350 280 49
[24-5] [a] 46 86 61 130 120 tr(13)
[24-6] le] 69 110 76 230 160 17
[24-7] [b]
[24] 110 190 160 330 280 53
(24-8] (k] 36 67 48 110 88 14
[24-9] [g.h,i] 64 110 76 180 170 24
(24-10] [123-cd] 60 100 78 220 180 25
(24-11] [a.c] tr(10) tr(10) nd tr(10) tr(10) nd
(24-12] [a.h] nd tr(12) nd tr(20) tr(17) nd
1 HV LV
2 PCB
PCB
3
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[1] PCB
180
I
160 \ .
140 ‘ J‘
q
120
TJ‘ [1] PCB
o= 3
g 100 51 ]xo,gz([gg?s())]
e ‘ A A 2 %1.30[%0.56]
=R [ B %230[%091]
2 X170[%0.66]
‘ Pa M f’\ f\ A m y 25 %0.85[%0.31]
60 - A s 26 %0.62[%022]
&1 ; ! ;A 27 %0.90[%039]
o LA el AR INIE
A d T
o s ' WA
20 A4 \d g'
0
4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8§ 12 4 8 12
21 22 23 24 25 26 27 28 29
21 4 12 2 3 PCB
PCB
1 PCB
[2] HCB
300
—
cae
250
¢
200 . ? an .
"\
o ?M%‘ M,:K". B e
£ .\ A . N 2 dlan 4 “.4‘? . 2 0npb
=
2 150 A 2 4! HE T %2 148[0.;]
VA hinah AT AR LA R e |
s y VH A A Y R
i 27 03[0.1
LT Wieipt® .
50 4 29 04[0.1]
0
4 8 12 4 8 12 4 8§ 12 4 8§ 12 4 8 12 4 8 12 4 8 12 4 8§ 12 4 8 12
21 22 23 24 25 26 27 28 29
2 HCB
(3]
10
—
9 R
8 [3]
[ ] (pg/m3)
7 21 0.04[0.02]
2 0.06[0.02]
6 23 0.05[0.02]
~ 24 0.05[0.02]
£ 25 0.04[0.02]
2 5 26 0.05[0.02]
S 27 0.05[0.02]
4 28 0.06[0.02]
29 0.06[0.02]
3
2
4
1 4 SR )
4 8 12 4 8 12 4 8§ 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12
21 22 23 24 25 26 27 28 29
12
3
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(pg/m’)

(4]

(pg/m?)

0.25

0.2

0.15

0.1

—
R
[4]
1 (1 (pem3)
21 0.24[0.09]
2 0.10{0.04]
4 ? 23 0.08[0.03]
n " 24 0.06[0.02]
A R H » 25 0.05[0.02]
? Alk n 26 0.05[0.02]
:'. > 'A 27 0.06[0.02]
i ! 28 0.08[0.03]
h‘ﬂ b 3 e A 29 0.09[0.03]
f h A 1 \a 0
1 \ 1 h
AW AW PR TR
TN W e <97
4 8§ 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12
21 22 23 24 25 26 27 28 29
(5]
—
R
1 1
[5]
[ ] (pg/m3)
21 0.10[0.04]
] 2 0.10[0.04]
23 0.09[0.04]
24 0.07[0.03]
25 0.06[0.02]
26 0.05[0.02]
¥ 27 0.06[0.02]
28 0.06[0.02]
\ 29 0.06[0.02]
\l )
4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12
21 22 23 24 25 26 27 28 29
12
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[6-1p,p-DDT

cafde=

35
[6-1]p,p'-DDT
3 l [ (pg/m3)
21 0.07[0.03]
25 / 22 0.08[0.03]

|

\ 23 0.07[0.03]
\ .07 [0
w

24 0.08[0.03]
25 0.05[0.02]

(pg/m?)
(3]

26 0.05[0.02]
27 0.05[0.02]

1.5 4 28 0.06 [0.02]
2 0.06[0.02]
RV
;

L NV e,

T w8 V)

(pg/m’)

(pg/m?)

0
4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12
21 22 23 24 25 26 27 28 29
6-1 pp’-DDT
[6-2]p,p-DDE
45
—
4 -——d--
35 [6-2]p,p'-DDE
[ ] (pg/m3)
3 21 0.04[0.02]
2 0.05[0.02]
23 0.08[0.03]
25 * 24 0.09[0.03]
I n ‘A 25 0.04[0.02]
2 (] 26 0.05[0.02]
& 27 0.05[0.02]
A K A ‘?‘ T ,')5 28 0.06[0.02]
1.5 L3 b T —y ¢ 29 0.06 [0.02]
SRV (TAIRT PR | Y ALY S Y Y SR
IRy 1y, " o | |2 hHEE .54 ST ]
STy VW V\l ' M»-.,A\ i a& ¢y b
0
4 8§ 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12
21 22 23 24 25 26 27 28 29
6-2 pp’-DDE
[6-3]p,p-DDD
0.4
h o
[6-3]p.p'-DDD
03 L] (pg/m3)
21 0.025[0.009]
2 0.024[0.009]
23 0.04[0.01]
A 4 24 0.04[0.01]
02 4 25 0.018[0.007]
d ? " 26 0.0180.007]
a " 27 0.018[0.007]
N i 28 0.017[0.007]
i i 29 0.018[0.007]
. A . Y > N A RS
. ‘ ]
) I\
0
4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12
21 22 23 24 25 26 27 28 29
6-3 p,p’-DDD
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[6-4]o,p-DDT

2 q
1.8 caee
L
1.6 ¢ [6-4]0,p'-DDT
[ 1 (pg/m3)
1.4 21 0.03[0.01]
kl I f 2 0.03[0.01]
12 * B3 0.04[0.01]
& “‘ , l H 24 0.04[0.01]
& 1 25 0.018[0.007]
= \ \ , 2 I\ H i [T % 0.023[0.009]
08 *® A [ 27 0.03[0.01]
AN L r \ fl4 foli 5 oo
0.6 7 I A )/ [ ? 29 0.03[0.01]
) " ') I
' : ||
o ERY WAV A WA Y.
o Wm! LY A
02 ¥ -
0
4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8§ 12
21 22 23 24 25 26 27 28 29
6-4 o0p-DDT
[6-5]o,p"-DDE
1 —
e
0.8 [6-5]o,p'-DDE
[ 1 (pg/m3)
21 0.025[0.009]
2 0.03[0.01]
06 23 0.04[0.02]
2 24 0.04[0.01]
@ 25 0.023 [0.009]
= \A l I N 26 0.023[0.009]
04 . A\ 27 0.019[0.007]
“ w 28 0.020 [0.008]
" ba Y N 29 0.02[0.008]
[
o H \Al yhvﬂu J ML L . S|
] 1
0
4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12
21 22 23 24 25 26 27 28 29
6-5 op-DDE
[6-6]o,p-DDD
0.35
e
0.3
? [6-6]o,p'-DDD
025 —1} Hi U1 pgmy
: i 21 0.04[0.01]
i 2 0.03[0.01]
P I N i 23 0.05[0.02]
z 02 i 24 005[0.02]
5 h :'. 25 0.05 [0.02]
= e b4 n [ 26 0.05[0.02]
0.15 H - 27 0.05[0.02]
1 LA 28 0.05[0.02]
ol M D) * i L4 29 0.06[0.02]
. ‘ T T
O g W st
e o !\
0.05 MRSV R LA AT Ax"gﬁ
0
4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8§ 12
21 22 23 24 25 26 27 28 29
6-6 o0,p’-DDD
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[7-1]cis-

18
L 0 ——
16 R
14 A [7-1]cis-
[ 1] (pg/m3)
12 I 21 0.14[0.05]
Hi 2 0.17[0.06]
_ 4 " “ 23 0.24[0.09]
= 10 \ by 24 0.22[0.08]
= K " " h 25 0.12[0.05]
= g o .‘,} [ ! 26 0.08[0.03]
H At : 27 02[0.1]
A i A Wl 28 03[0.1]
6 JV\ ]g\ P "I T;§ lg 29 03[0.1]
]
. M ' 1M
AL P L4 S el A
e
2 [ ) hd g W L J 1
TP boud hud A4
0
4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 12 4 8 12 4 8 12
21 22 23 24 25 26 27 28 29
7-1 cis-
[7-2]trans-
25
o 'Y coA-
20 [7-2]trans-
1 (pg/m3)
21 0.17[0.06]
2 023[0.09]
15 23 03[0.1]
P 24 04[0.1]
® 25 0.15[0.06]
A= 26 0.11[0.04]
0 % 4 4 1 27 03[0.1]
] ! 28 04[0.1]
4 i i 29 03[01]
] I
. \ “, M M ,' - =
! ;
J‘ > J JJ "U \ "I \
i
0
4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12
21 22 23 24 25 26 27 28 29
7-2  trans-
[7-3]
1.4
R
12 *
A [7-3]
| . [ 1 gm)
21 0.04[0.01]
2 0.03[0.01]
= 08 L 1 23 0.07[0.03]
% : 24 0.08[0.03]
® TVY\ 11\ A /\ 25 0.03[0.01]
A= 26 0.06[0.02]
0.6 2 1 n 27 0.06[0.02]
u A 28 0.06[0.02]
oa ﬂ * ' 29 0.05[0.02]
NERIERYERY RV
ﬁ "
0.2 ¢ ¥ N Ve
0
4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12
21 22 23 24 25 26 27 28 29
7-3
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[7-4]cis-

2

—
1.8 .
®
1.6 H [7-4]cis-
. i L1 (g
1.4 4 H 21 0.03[0.01]
\ n :'. I 22 0.021[0.008]
~ 12 " r 23 0.04[0.02]
£ 2 \ \ 4 i i IX 24 0.12[0.05]
B 1 H Al 14 25 0.04[0.02]
& l\ﬂ * \ " ] 14 H % 0.04[0.02]
08 [) 1 it L9 27 0.06[0.02]
AT S L S 1/ 7 O I =
06 tr P} 'X{ i LY, 29 0.04[0.02]
/AR NLITA AN AR
K L J & y
0.2 &QI y k \ 'J \ K ﬁ “. i‘ ‘ -W %ﬁ v k
. g !
O i e Y W M
4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12
21 22 23 24 25 26 27 28 29
7-4  cis-
[7-5]trans-
14
[r— S—
q q ae
12
? [7-5]trans-
10 h [ 1] (pg/m3)
i 21 0.09[0.03]
2 i 2 0.12{0.05]
o I h H e 23 0.18[0.07]
Z 8 it i 24 0.24[0.09]
&l T vt £t
6 S ,i ' 27 021[0.08]
y ! \ 28 0.22[0.09]
A » * M i N ! 29 02[0.1]
J ; u A
L SEILE
- ! [ ]
2 " ¢ s
R o ' g
0
4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12
21 22 23 24 25 26 27 28 29
7-2  trans-
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(8-1]

4
P < ®
35 il
[
[8-1]
3 [ ] (pg/m3)
21 0.06[0.02]
”s 2 0.08[0.03]
& 23 0.09[0.04]
Z 24 0.09[0.03]
s 25 0.07[0.03]
& 26 0.07[0.03]
] K 27 0.08 [0.03]
15 28 0.09[0.03]
20 0.08[0.03]
X I / \ -K 2 .V\ A j \ * B
LR A AN
TN WO AT '
0
4 8§ 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8§ 12
21 22 23 24 25 26 27 28 29
8-1
[8-2]cis-
1
—
0.9 t\ I -——t--
0.8 7\ l\ l\ [8-2]cis-
Iy 4
07 yﬂ ™ 4 ™ [ 1 (pgm)
f " TV\ I\ A 4\ n 21 0.022[0.008]
~ 06 * Y ey H 2 0.024[0.009]
E / \ l \ N\ ,j.j\ lx 4 A i 23 0.04[0.01]
B 0‘51 V. . L!R* . 7\?!_,57‘ 24 0.05[0.02]
& d = et : 25 0.03[0.01]
04 \ ¥ ’/ \ “ fz\/\ A 3 N ..ﬂ 26 0.03[0.01]
: 27 0.03[0.01]
I \A \«J x y .\ i *A h V F ) 22 0.03[0.01]
0.3 ¢ v vy W ] 29 003[0.01]
0.2 App
0.1
0
4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12
21 22 23 24 25 26 27 28 29
8-2 cis-
[10]
0.6
q ——
L ——h-
0.5
[10]
[ 1] (pg/m3)
° 21 0.03[0.01]
04 & 2 0.020 [0.008]
- ] : A 23 0.04[0.01]
2 i 24 0.021 [0.008
5 0.3 1 i ?;* AX I 25 0,020%0,008%
= A ¥ o 26 0.017[0.007]
i il ,..A 27 0.023 [0.009]
HER 28 0.019[0.007]
0z | o |le diee AL L 29 0.021[0.008]
! 4L e | '
] ] u, A, ] J
L ] v
0.1 P Vi o ‘J P oy v 1":" kj
WA A&I%
0
4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12 4 8 12
21 22 23 24 25 26 27 28 29
9
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(pg/m?)

(pg/m?)

(pg/m?)

45

[11-1] e-HCH

>

40
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30

——®

o

=ap

25
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| ——e
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S o i
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12 4
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8

12 4
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8 12 4
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[11-3] ~HCH

8

12 4
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8 12 4
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8 12
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4
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L 4
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el
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21
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8

12 4
26

8

12 4
27

8 12 4

28

8 12

29

—_—
[P V.
[11-1] a-HCH
[ ] (pg/m3)
21 0.100.04]
22 0.17[0.06]
23 0.24[0.09]
24 0.16 [0.06]
25 0.21[0.08]
26 0.10[0.04]
27 0.3[0.1]
28 0.20[0.08]
29 0.14[0.06]
—
——a--
[11-2] B-HCH
[ ] (pg/m3)
21 0.04[0.01]
22 0.07[0.03]
23 0.06[0.02]
24 0.07[0.03]
25 0.06 [0.02]
26 0.05[0.02]
27 0.06 [0.02]
28 0.07[0.03]
29 0.06 [0.02]
—
——a--
[11-3] y-HCH
[ (pg/m3)
21 0.07[0.03]
22 0.11[0.04]
23 0.21[0.08]
24 0.14[0.05]
25 0.15[0.06]
26 0.06 [0.02]
27 0.18[0.07]
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